D8

NNNNNNNNN G

Wi b RS e A BR A ]
1B I AL A4
WEZ#5: 000967 WFHRIPR:  ERGER NSRS 2013-048

ANy ) S S A R A DRI AR PR IR A RS A S8 8, B BOCE. RS
PRI B KR

— A GR

20134 11 1 H, WL EXRINEBARAR (BURER “AF7) 5
LT RIS R A A (UM “ARIEAR" AR TS T WL L
PRSI PR 2 )45 3 B B O 3L T AR HE HL AT IR 7] 16 96 1 IR JIeA
AP0y CBURTRIRR “ CBMY 7 ), L 26, 215, 280 Jo32 ik RHEA A 15% 1k
o ZRUETT LRATBOE BRI C T 2013 4F 11 ) 6 HIZMER T &id, A v IR 2R
AEA W] 100% KR, R AT AR 2T T .

WA A (R ME, AU I HTHRZ ARSI, Sl
A A H AL I . ANIRAE 5 SN SORIRAT &y, KR (BT 2 W) R B
FAEPIMED) B E T AL

. X7 IERE O

HARNTUTNN, SHAE S, 2106231979%kx4062, HAFAH LKA 15%
AL o

TG 5528 7 AR A J AT S ARTE AL M58 8 iUt 4 F1 A
SEJTTICARMT DGR, A T et e b 2 w6 R s ORI HAR G R . A2 % 5
JCAT B SRR FE AL S I, R e 5 S5 3 QI E R IS R A Bl fhak
I,

=, XERREFRFL
T A YRR 0 250 2 R4 1596 19 IR -
R ERIPASS LY

&
=
O
w
=




AT GRR: LT AR ARG Z A IR A ]

WAL H: 200443 A1 H

Ml ARUE T AR R

PEARER N iR

M EEA: 1000 5T

SOEul A RS RSE. Rk HIM . HIHEE. BN, HRTooRR
f GRRBAS RS ) . 2R, R aRA

JBARNE L A TR 85% KA, AR N TENANHFE 15 % JBAL o

2 PRI B 55 A

Bk 2013 49 H 30 H, R AL TE™ 43, 738.62 Jj G, Hifii 26, 261. 77
JIJG, 15T 17, 476. 85 JiJt.

M. ZHHHEENE

1. WAZEH: 26,215,280 JG.

2. Gy e Al - LA 2013 4F 9 FJ 30 H O HR v IEHEH , BL2Y A 58 1 15%
AR o

3y JBRUHEAE I SO B SCAT . X7 RIEAEXOT 3 E hills 156 AL
YEH W SZAT 50 % JBRERUEE LA 8 13, 107, 640 TG, 757058 B T3 I AU AR B 48 5
15 A~ TAE H W ST R4 50 % IEBU LA 3K 13, 107, 640 JT.

4, JREBCEAEM R G kil AR B %8

5 BMMIZER: L& S T T e AR A

T WOEE=H B IR A B 0

1. 2010 = 9 JJ 28 HARHA AR JBAR 55 2 w) 2535 BB LE Pl P 25
SER A 24 NMHJE, 2~ " AROE T8 T 2 20T TR 2R EE A F) AR
N IB%HBAL, T BN IR AEE SR A w OB R AR A W R T 15%IEAL, 1% 15%
FBA A LA ) A o AR 2 ) b F R DK T 94 0 7 by JEUE A 1 7

2+ AR TE UG R A R AR AR T AR, AR E T
ARUEA TR BN, Red m R B IR 0, AT AR ALK
Jiz,

N~ BB

#
p=i
B
w
p=i



Lo STV B RS B A B 2 7] 5 TR O T 18 7 AR 2k A PR A w]
15 % MR Z BB AR 5
2. BHEARE A .

L\\

\

Rtk

of

WL S A A B 2 ]
E S
—O—=%Ft+—H+WlNH

&
w
=
O
w
=





